Completing the Square Practice March 13, 2023

Today's Plan:

Learning Target (standard): | will solve quadratic equations by completing
the square.

Students will. Complete practice problems over previous concepts at the
boards, put up homework problems on the board and make necessary
corrections to their own work, take notes over new material and complete
practice problems over new concepts.

Teacher will: Provide practice problems over previous concepts, check
homework problems for accuracy and provide students feedback, describe
and provide examples of new concepts and assign students assessment
problems over new concepts.

Assessment. Board work, homework check and homework assignment

Differentiation: Students will work at the board, go over and correct
homework at their seats, actively engage in lecture over new concepts,
practice new concepts with the aid of other students and the teacher and
complete homework assignment.
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Factor.
6x” —41x+30 [30
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N - S +-3= -4|
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Solve by completing the square:
x> —10x =75 _I_Q_ '2._25
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Solve by completing the square:

¢’ —4c=21 -}:z%q
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Solve by completing the square:
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Solve by completing the square:

F+8r+12=0

c2 4B+ =-12+10
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Solve by factoring.
5x*+21x=20
5xE+21x-20 = 9]

X2 +29%-4x-20=0
$x (x+3)-4(x+9) =)
(s )(2x-4) =

KO0 Sx-4=0
K= Sy
X=4
S
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Solve by completing the square.

x> 412k +3, =-20+3Ls

X+(’:L,"L(

—4x* - 48x-80 =0
“Hy"-48x = 3D l%—
4 =H =g “6=3l,

Solve by completing the square:

2

b+ =-5+9
( +-9) s

P0=2-2

P’ —6p=-5 lo:__az.
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Solve by completing the square.

“2x* +28x-26=0

~2x"+28x =20
-2 2 -2

Xz—@(ﬂ‘if -1 >t4q
[(x)"=}3),

X-1=0,-0

Solve by completing the square.

2
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Solve by factoring.

b (3o+1)-2(3b+1)=0
(’5b+|)(b—2>:0

Sorlsp %70
Sp=-l b2

5b* -9h=2
Sb™-9b -2 =0 1D
290
Soth-1b-2:¢ | TP

Solve by taking square roots.
—6-9x° =411
2
~9% = 405

(x5

X= (0% -(, 0%




Completing the Square Practice March 13, 2023

Assignment:

Completing the Square 1A
#1-8
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